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Abstract

The convergence problem of the family of the deformed Euler—Halley iterations with parameters for solving
nonlinear operator equations in Banach spaces is studied. Under the assumption that the second derivative of the
operator satisfies the Holder condition, a convergence criterion of the order 2+ p of the iteration family is established.
An application to a nonlinear Hammerstein integral equation of the second kind is provided.
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1. Introduction

Let X and Y be (real or complex) Banach spaces, 2 C X an open subsetandlet F : Q C X — Y bea
nonlinear operator with a second continuous derivative on Q. Solving the operator equation

F(x)=0 (1.1)

is abasic and important problem in applied and computational mathematics. The most well-known method
tosolve (1.1)is the Newton method, which is quadratically convergent under the proper conditions, showed
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by the well-known Kantorovich theorem; see e.g. [17]. Recent progress in the Newton method is referred
to [21,20] and [22]. The important cubical generalizations of the Newton method are the well-known
Chebyshev method (or Euler method) [1,3,15,16] and the Halley method [4,2,12,15]. More generally,
Gutiérrez and Herndndez proposed the family of the Euler—Halley iterations in [8], which is defined as
follows:

Xl = Xan — [+ 3 L@y — aLp(xa )™ F () " F ), n=0,1,..., (1.2)
where o € [0, 1] and
Lr(x)=F () '"F'(x)F (x)"'"F(x), xe€X. (1.3)

The family of the Euler—Halley iterations includes, as particular cases, not only the Chebyshev method
(e = 0) and the Halley method (x = %) but also the convex acceleration of the Newton method (or the
super-Halley method) (¢ = 1) (cf. [5,10,9]). Hence, this family has recently been studied extensively; see
for example [11,23]. However, the disadvantage of this family is that evaluation of the second derivative
of the operator F is required at every step, the operation cost of which may be very large in fact. To
reduce the operation cost but also retain the cubical convergence, in [6] Ezquerro and Herndndez gave
a variant of avoiding computation of the second derivative for the convex acceleration of the Newton
method. More precisely, the second derivative of F at x,, in this method is replaced by the difference of
the first derivatives at x,, and z,,:

F//(xn)(zn —Xp) N F/(Zn) - F/(xn)’ (1.4)
where for some 2 € [0, 1],
Yo =2xp — F'(xp) 'F(x,) and 2z, =x, + A(yp — xn). (1.5)

Thus under the assumption that the second derivative of F' satisfies the Lipschitz condition on , a
cubical convergence criterion based on the Lipschitz constant and boundary of the second derivative was
established for this method. The same variant was given in [13] for the Chebyshev method, and cubical
convergence criteria for the variant of the Chebyshev method were studied in [13,14]. Convergence
criteria for these methods under the assumption that the first derivative satisfies the Lipschitz condition
were discussed in [7,13].

Motivated by the idea of Ezquerro and Herndndez in [6] and [13], we define, for arbitrary o € [0, 1],
the variant of the family of the Euler—Halley iterations with parameters as follows: Let 1 € (0, 1] and
o € [0, 1]. Define

1
Hx,y)=- F'x) 7' F (x4 2y — x)) — F'(x)] (1.6)
and
Q(x,y)=—3 H@x, )I+aH(x, y)]™, (1.7)

where I is the identity. Then the family of the deformed Euler—Halley iterations with parameters is defined
by

Yo =Xn — F'(x0) ' F(xy), n=0,1,2,..., (1.8)

Xpi1=Yn + Qxn, Y)Y — X)), n=0,1,2,.... (1.9)
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Under the assumption that the second derivative of F satisfies the Holder condition on the ball B(xg, ) € Q
for some proper r > 0, we will establish a unified convergence criterion based on the values of the operator
and its second derivative at the initial point as well as the Holder constant for the family of the deformed
Euler—Halley iterations with parameters. The main theorem is stated in Section 3, which extends and
improves the corresponding results for the deformed convex acceleration of the Newton method and the
Chebyshev method obtained in [6,13,14]. An application to a nonlinear Hammerstein integral equation
of the second kind (cf. [18]) is given in the final section.

Throughout the paper, we always assume that o € [0, 1], 2 € (0, 1], p € [0, 1] and that xo € X such
that an inverse F’ (xo)_1 of F' at xq exists. For r > 0, we use B(xq, r) to denote the open ball with radius
r and center xg while B(xg, r) stands for the corresponding closed ball.

2. Iteration sequences {a,} and {b,}

We begin with two real-valued functions defined below, which will play an important role in analyzing
the convergence order of the family of the Euler—Halley iterations. Write

2
Sy = , a€l0,1]. (2.1)
l4+a+V/(1—a)?+2
Then
N
S (1 + m) < 1, Vs € [O, Sm). (22)

Now we define continuous functions g on [0, s;) and % on [0, s,) x [0, +00), respectively, by

1 2(1 — as)

S (0 iy 20w =g =52 L0 23
and
hes. D QR+ (p+2)iP) a(1 — 2)Pst (1 — a)s? s3
Ky = S
’ 20+ D(p+2) 20+ D —as)  2(1—as)  8(1 — as)?
Y(s, 1) € [0, s,) x [0, +00), (2.4)

where we adopt the convention that 0° = 0. Then the following lemma on the properties of the functions
is trivial and so the proof is omitted.

Lemma 2.1. Let g and h be defined by (2.3) and (2.4), respectively. Then

(1) g(-) is strictly monotonically increasing on [0, s,) and g(0) = 1;

(2) foreach (s,t) € [0, sy) x [0, +00), h(s, -) and h(-, t) are strictly monotonically increasing, respec-
tively, on [0, 4+00) and [0, s,); and

3) foreachy e (0,1),

h(ys, Y TPOY <y TPh(s, 1), V(s 1) € [0, 54) x [0, +00). (2.5)
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Let ag > 0 and bg > 0. Define real sequences {a,} and {b,}, respectively, by
ay = an-18(@n—1)*han-1,by-1), VYn=1 (2.6)
and
by = bu-18(@n—1)"Phiay-1, b, Vnz1. 2.7

Then we have the following lemma.

Lemma 2.2. Let ag € (0, s,) and by > 0 such that g(ao)zh(ao, bg) < 1. Set y = g(ao)zh (ag, bg) (hence
y=ay/ap<1)and A = g(ao)*l. Then

_ (p+2)" -1
ay <y PH2" lan—1<vp"+' ap, Vn=l1, (2.8)
by <GP TP, D s, 2.9)
n-l P+ —
ng(a])h(a],b)<y P4, Va1 (2.10)
j=0

Proof. To show (2.8), it suffices to show that
a, <y P" g, @11)

holds for each n > 1. We proceed by mathematical induction. Clearly, (2.11) holds for n = 1. Now assume
that (2.11) holds for n = k. Then, by (2.6), we have that

k—1 k—1 k—1 k-1
axt1 = arg(ar)*hlag, b)) <y P 18P a2 ay, P )P y).
Consequently, by (2.5), we obtain that
k—1 k—1 k
ar1 <Y a1 g (@) P P h(ag—y, br—y) = P gy (2.12)

This shows that (2.11) holds for n = k + 1. Therefore, (2.11) holds for all n > 1.
Next, by (2.7) and (2.11), we obtain that, for each n,

an+1

+
bus1=b,g(an)? 2 h(ay, by)’ ' <b,lg(an) h(an,b>]f’“<( ) by <GPPI, (2.13)

dp
and so (2.9) is proved.
Finally, from (2.8) and (2.9), one has that, for each j >0,

(p+2)/ 1 (p+2) _
glaph(a;,b;)<gy” »T ag)h(y 7+ a0 77 1) <P g (ag)h(ag, bo) = 7P 4.

Hence,
n—1
(p+2)"—1
1_[ glaj)h(aj,bj)< H /(p+2)/4|—y P A",
Jj=0 Jj=0

The proof is complete. O
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We still need two simple lemmas. The first one is clear while the second one is a direct consequence
of Lemma 2.1. Recall that g and % are given by (2.3) and (2.4), respectively.

Lemma 2.3. Let K >0 and > 0. Then the equation

KP4 pr—1=0 (2.14)
has a unique positive solution r satisfying r < lﬁ
Lemma 2.4. Let K >0, r > 0 and let s, be defined by (2.1). Define the function q on [0, rs,,) by

q(s) = g(s/r)*h(s/r, KsP*h), Vs €[0,rsy). (2.15)

Then q is strictly monotonically increasing and continuous on [0, rs,) with q(0) =0 and q(rs,—) =+00.
Consequently, there exists a unique r, € (0, rsy) such that q(ry) = 1.

3. Convergence of the iterations
Let r be the unique positive solution of equation (2.14). Then
p+KrP =1 (3.1)

Throughout this section, we assume that the nonlinear operator F : B(xg,r) € X — Y satisfies the
following conditions:

IF'(xo) ™" F (xo) [ <, (3.2)

IF' (x0) ™" F" (x0) | < (3.3)
and

IF' (x0) ™" (F"(x) = F"O)II<K|x — y|IP.  V¥x,y € B(xo. 7). (34)

Below we will establish the convergence of order p + 2 for the family of the Euler—Halley iterations. For
this purpose, we first give several lemmas.

Lemma 3.1. Let x € B(xq, r). Then F’ ()c)_1 exists and satisfies that

IF' ()" F' (x0) |l < (3.5)

i .
— 7 llx = xoll

Proof. Since by (3.1)

B+ Klx —xoll” <p+ KrP =1,
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it follows from (3.4) that
11 — F'(x0) "' F'(x)|
=wwmrw%mu—n»ﬁ[Fvwﬂﬂvmmu—m»—ﬂumu—mNﬂ
<(Mﬂmﬁwﬂmw+AHW%@”UWm+ﬂx—mD—Fﬁmmmww—mﬂ
<(B+ Kllx — x0ll”)llx — xoll < lx — xoll < 1
Consequently, the well-known Banach Lemma yields that F’ ()c)_1 exists and (3.5) holds. O

Let {y,} and {x,} denote the sequences generated by (1.8) and (1.9), respectively. Then by (1.6) and
(1.7)

1
H@MW=;F®JHFW+MM—M»—FWH (3.6)
and

Q(Xn, yn) = —3 H(xn, ya)UI + oH (xy, y)1 7 (3.7

Lemma 3.2. Suppose that y,, x, € B(xo, r) and that

LIF (o)™ F o)l yn — xall < 1. (3.8)
Then
1 / —1 7
LF )™ F o) [l yn — xall
(xn, yn) | <—= , (3.9)
1O 3 P o F o) o — 01D
st — %0l <A 4 110G y) DIlyn — Xnll (3.10)
and
o 24 (p+2)i a1l =P ) )
F VF(aanl < w YL ) K llyn — xa 17T
| F’ (x0) “+MK(up+D@+a o1y 120Gyl ) Kl =l
1 ns n 2
+;OPWW@%JMMJgg£QL)W—MW- 3.11)

Proof. Note that

1
H(xy, yn) =/(‘) [F,(xn)_lFN(XO) + F/(xn)_l(F”(xn + tA(yn — xp)) — F”(XO))](yn — Xx) dr.
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Hence, by (3.4) and (3.1),

1
1H Cens y) | < I (o) ™" F/ (o) | /0 [B+ K((1 =) llxn — xo0ll + 2llyn — x0lD”1dellyn — xnll

<NF' o) T F o) 1B+ KrP) lyn — Xl
=11 F ) F Go) v — xall- (3.12)

It follows from (3.8) and the Banach Lemma that

IH Gyl IF ) ™ F o)y —
(1=l H G y) D) 201 = 21 F (o) ™ F ) 1y — xall)”

1Q G, yll <5

hence, (3.9) is proved. (3.10) follows from

Xptl — Xp = Yn — Xn + QXpn, Yu) (Yn — Xn)- O

Finally, to verify (3.11), noting that x,,+.1 — y, = O (x;, Y») (y» — X;,) and applying Taylor’s expression,
we attain that

1
F(xn—i-l) = ./0 [F”(xn + T(yn - xn)) - F//(xn)](l - T)(yn - xn)z dz
1 1
+3 / [F" (xp) — F" (xp + 1200 — xa)1 (3 — x)* dz
0

1
- / [oF" (xp + t2(yn — X)) — aF" (X 4+ 1(yn — xn))]d1
0
X (Yn — X0) Q (X, Yn) (Y — Xn)

1
+ (1 - O‘)A F/,(xn + T(yn —xn))] df(yn - xn)Q(xnv yn)(yn — Xp)
1
+ /0 F" (o + 2nst — ya)) (1 = D(QCons 3) (o — ) d.

Consequently, by (3.4),

1 1
~ 1 ,
IF' (x0) "' F(xng1) 1| < / Krp||yn—xn||P+2<1—r>dr+5 f KPP ||yy — x, |P 2 de
0 0

1
+ f K(1 =27y — a2 A2l QCrn, )l
0
1
. a)/o B+ K (1 =2 — x0) + o — x0)[17) del| Qs 3

1
+ _/0 (B+ K1 =) (v — X0) + (xs — x0)I”) (1 = D)dzllxr1 — yull*.
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Note that
B+ KII(1 = 1)y — x0) + 1(yn — x0) 1P <,
B+ K1 =)y — x0) + t(xn — x0)|I” <2
and
%51 = Yull = 1Q s Y Il yn — Xal-

(3.11) follows. The proof is complete. [
Recall that ¢ is defined by

q(s) = g(s/r)zh(s/r, KsPth, Vs €0, rs,)

and r, € (0, rs,) is a unique solution of the equation g (s) = 1.

Lemma3.3. Letag=n/r, bo=Kn’*' and A= g(ao)_1 . Let{a,} and {b,} be the sequences generated by
(2.6) and (2.7), respectively. Suppose that y < r,. Then the following inequalities hold for alln =0, 1, . . ..

KIIF (o)™ F o) lyn — xa 17T < by, (3.13)
(p+2)"—1 n
lyn —xall <y 7T A" lyo — x0ll, (3.14)
1
;nF’(xn)—lF’(xo)n Iy — Xnll <@n, (3.15)
e — xoll <(1 — ()" yr, (3.16)
dp

1l —Xpll< 1+ ———— n— Xnll 3.17
(B (+2(1_aan))ny X (3.17)
%041 — X0l < (1 — ()™ hyr (3.18)

and

IF' )™ F (o) | < g (an) |1 F' (xn) ™ F (x0) |- (3.19)

Proof. Since n < r,, we have that g(ao)zh(ao, bo) <1 by Lemma 2.4. Hence, by Lemma 2.2, {a,} and
{b,} are strictly monotonically decreasing. In addition, as n = agr,

ap ao 1 .
<l+m>”<<l+2(1——aa0)>”_(l Mr<(1— Ay, V=1, (3.20)

Clearly, (3.13), (3.14) and (3.15) hold for n = 0. Since %||y0 — xoll <ag < sy < 1, it follows from (3.9)
and (3.10) that

ao
—xoll<ao [ 14+ —"2—)r. 3.21
X1 = xoll <ao < Tz aao)) r (3.21)
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Therefore ||x; — xg|| < r thanks to (2.2). This means that (3.17) and (3.18) hold for n = 0. Furthermore,
by Lemma 3.1 and (3.21),

1
1-1 ST a0l + ;8
— > llx1 — xoll 0 2(T—o0ag)

IF' )™ F (o)l < = g(ao). (3.22)

That is, (3.19) holds for n = 0. We will proceed by mathematical induction. For this purpose, assume that
(3.13)—(3.19) hold for all n <k. Then it suffices to show that they hold for n = k 4 1. We first show that
lyn — xnll <g(@n—Dh(an—1, bp—1)llyn—1 — xn-1ll, Vn<k+1. (3.23)

Indeed, for each n <k + 1, since n — 1 <k, we obtain that, by inductional assumption (3.15),
1 _
;”F/(xn—l) YE o)l yn—1 — Xn—1ll S@n—1 <sy < 1. (3.24)

By inductional assumptions (3.18) and (3.16), x,,—1, y,—1 € B(xq, ). It follows from (3.11) that

I F' (xpe1) ™' F ()|
<IF Conm) T F () I F (x0) ™ F G

24 (p+2)iP a(l— )P ) S o
< n—1, Yn— K| F (xp— F n—1 — Xn—1|1”
<<2<p+1><p+2) 1 10 3D ) KEF G ™ P o)l =

10 Gt ne I

1
+ ((1 — ) Qn—1, yn—DIl + ) 1F Gen) ™ F o) -1 — Xa—1 1%

2
(3.25)
Using (3.9) and (3.24), we have that
an—1
L VDI < —. 3.26
10 G-t 3D < 5= (3.26)
Note that, by inductional assumption (3.13),
KIIF' ne) T F' o) Hlyn—1 — X1 1P < by (3.27)
Therefore, by (3.24)—(3.27), we obtain that
IF (ne1) ™ F ()|
_ 1 |:2+(p+2))v1’ N (1 —/“»)"an_l]b (1 —oaz_,
X —1 _—
20+ L (P+2) (I—aap—1) | " 2(1 —aay_1)
(13 1
+m lyn—1 — xpn—1ll = han—1, bp—)lyn—1 — xn—1ll- (3.28)

Since
e = Xl <IF Cen) ™ F G DI (1) T F ()

(3.23) follows from (3.28) and inductional assumption (3.19); hence (3.23) is proved. [



X. Ye, C. Li / Journal of Computational and Applied Mathematics 194 (2006) 294—308 303
Thus, by (3.23) and inductional assumptions (3.19) and (3.13), we have that

KIIF (o) ™ F o) | vk — Xt 1P
<g(a) K| F () " F o) vk — xell P g (ar) P h(a, br)P ™!
<brg(ar)Ph(ag, bp)P ™ = bryy. (3.29)

This shows that (3.13) holds for n = k + 1. As for (3.14), it can be shown easily by (2.10) and (3.23),
while (3.15) follows from (3.23) and inductional assumptions (3.19) and (3.15). Hence (3.14) and (3.15)
hold for n = k + 1. By (3.14) and inductional assumption (3.18), one has that

U5 s R k+1
Vi1 — ol <UYk+1 — X1 1l + [[xg+1 — X0l <y PH1 AT+ (1= ()" )r
<O+ 1 = @ hr<d — G )r (3.30)
because n< (1 + %)n < (1 —y4)r. Therefore (3.16) holds for n =k + 1. Consequently, xz11, yx+1 €
B(xg, r) by (3.30) and inductional assumption (3.18). Hence, by (3.9) and (3.10), we have that
1 / —1
SNEF k1) Frxo) [l i1 — Xe1l
Xkt2 — XIS | 1+ —— — I Ve+1 — X1l
2(1 = 2| F’ (o) " F/ o) 1l vkgr — Xt 1)
Since (3.15) holds for n = k + 1, we obtain that
ak+1
Ixt2 — X1 <A+ =) k1 — X1l (3.31)
2(1 — vag41)

This shows that (3.17) holds for n = k + 1. Now let us show that (3.18) holds for n = k + 1. In fact, by
(3.31) and (3.14),

ak+1 (p42F oy aj+1
loks2 — xprll < (1 + —+> yoort A (14— ) o 3.32)
2(1 — oagy1) 2(1 — vag+1)

Combining this with (3.20) and inductional assumption (3.18) gives that

lxk+2 — xoll < | xk+2 — Xk1 1l + 1 xXk+1 — X0l
<=9 DrGH T 4 (1 = G Hr =1 = G 2)r (3.33)

and so (3.18) holds for n = k + 1. Thus, it remains to show that (3.19) holds for n = k 4+ 1. Since
Xk+1s Xk+2 € B(xp, r), similar to the proof of (3.12), we obtain that

1 ~
I — F () ™ F () 11 < ;MF/(ka YF! (o) k2 — xe1 - (3.34)

Using (3.15) and (3.17), we obtain that

_ aj+1
11 = F' (s ) ™ F pg2) | <apgn <1 + —+) <1
2(1 — oak+1)
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where the last inequality is because of (2.2). Then, by the Banach Lemma,
I o)™ F/ (o)l
a,
I =i (1 + 2<1—katzlk+1>>

That is, (3.19) holds for n = k + 1. The proof is complete. [J
Now we are ready to state the main theorem. Recall that g is defined by

IF' (xpt2) " F (o) Il < = g(ar+DIF (1) ™ F (o) . (3.35)

q(s) = g(s/r)*h(s/r. KsP™h), Vs €[0,rsy),
while g and £ are, respectively, defined by

B 2(1 — as)
C2(1 —as)(1 —s) — 2’

g(s) Vs € [0, 55)

and
Q4 (p+2)iP) a(l — 2)Pst (1 — a)s? 3

C2(p+D(p+2  2p+ DA —as)  2(1—as) 81 —as)?’
V(s,t) € [0, s,) x [0, +00).

h(s,t)

Theorem 3.1. Let F : Q C X — Y be a nonlinear operator with a continuous second derivative
F" and let xo € Q be such that F'(xo)~" exists. Let r be a unique positive solution of the equation
KP4 pt — 1 =0. Suppose that B(xg, r) € Q and that conditions (3.2)—(3.4) are satisfied. Let r, be a
unique solution of the equation q(s) =1 on (0, rs,). If n < ry, then the sequence {x,} generated by (1.8)
and (1.9) with initial point xo converges at a rate of order 2 + p to a unique solution x* of the equation
F(x)=0o0nB(xq,r).

Proof. Recall that ag=1#/r, bg= Knp+1 and 4= g(ao)_l. Since 5 < ry, it follows from (3.14) and (3.17)
that, for each n >0,

an (p+2)" 1 (p+2)" 1
IxXn41 = Xl S | 1A s |y 77T A"<(A = Dry 7+ A" (3.36)
2(1 — aay)
As
2) -1 )" —1
w2 — L w2 =l o), iz,
p+1 p+1
one has that, for all m, n>0,
a1 mcl . 1 —Ar o+2"-1
o —xall <= 2y P a3y LT (3.37)

£ (1 —74)
This means that {x,} is a Cauchy sequence and hence {x,} converges, say, to x*. Letting m — o0 in
(3.37) yields
1 —A)r @21
ot — sl e S g, (3:38)
(I =4
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Thatis, {x,} converges to x* at arate of order 2+ p. In particular, letting n =0, we have that || x* — xq|| < r.
Since F’(x,) "' F(x,) — 0and F’(x)~' F(x) is continuous, F’(x*)~! F(x*) = 0; hence, F (x*) = 0.

Thus, to complete the proof, it remains to show that the solution of the equation F'(x) =0 is unique on
B(xo, r). To this end, let y* € B(xq, r) be such that F(y*) = 0. Then

1
/0 F'(xo) ™ F/(c" + 1 (3" = x)) di (3" = x¥) = F'(x0) ' [F (V") = F(x*)] =0, (3.39)

1
H/o F'(xo) ' [F'(x* +1(y* = x*)) = F'(x0)]ds

1 1
< / / 1F' (x0) ™" F” (xoe(c+ (" — x%) — xo)) | del(1 = 1)l — xoll+1 1" — xoll1de
0 0

1 1
<r/ / B+ K11 = D0 = x0) + 10" — x)|P)dedr <1,
0 0

by the Banach Lemma, fol F'(x* + t(y* — x*)) dt is invertible. Hence, y* = x* by (3.39). The proof is
complete. [

In particular, taking o =0, % and 1 in Theorem 3.1, respectively, we immediately obtain the semi-local
convergence results of the Euler method, the Halley method and the super-Halley method, which are not
necessary to restate here. The first and the third were, respectively, investigated in [13,14] and [6].

4. Application to a nonlinear integral equation of Hammerstein type

In this section, we provide an application of the main result to a special nonlinear Hammerstein integral
equation of the second kind (cf. [18]). Letting 4 € R and p € [0, 1], we consider

b
x(s) =1(s) +/ G(s, D[x ()P + ux(®)?1dt, s € [a, b], 4.1)

where [ is a continuous function such that /(s) > 0 for all s € [a, b] and the kernel G is a non-negative
continuous function on [a, b] X [a, b].
Note that if G is the Green function defined by

(b —bs)_(ta— a) ’ r<s,
G(s,t)= 5 —a)b—1) 4.2)
" b—a %"
Eq. (4.2) is equivalent to the following boundary value problem (cf. [19]):
{x” — _x2tp _ ,uxz,
x(a) =v(a), x(b) =v(b).
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To apply Theorem 3.1, let X = Y = C|a, b], the Banach space of real-valued continuous functions on

[a, b] with the uniform norm, and let
{x e Cla,b]: x(s)>0, s € [a, b]}, pe©1),
”:{C[a,b], p=0, 1.
Define F : Q, — Cla, b] by

b
[F(x)](s) = x(s) = I(s) —/ G(s. DIx(@)*™P + ux()*1dr, s € [a, b].

Then solving Eq. (4.1) is equivalent to solving Eq. (1.1) with F being defined by (4.3).
We start by calculating the parameters f and 5 in the study. Firstly, we have

b
[F'(x)ul(s) = u(s) —/ G(s, D2+ p)x(O)"P +2ux()u(r) dt, s € [a, b]
and
b
[F"(x)uz](s) = —f G(s, D2+ p)A + p)x(®)? 4+ 2ulu()z()dt, s € [a, b].

Let xo € Q) be fixed. Then

IT— F'(xo) | <M (2 + p)lIxoll'™7 + 2ullxol),

where

s€la,b

b
M = max]/ |G (s, t)|dt.
a

By the Banach Lemma, if M ((2 + p)||xoll't? + 2ullxo||) < 1, one has
1

I F'(x0) [l < :
1— M2+ p)llxoll™7 + 2ullxoll)

Since

IF Geo)ll < llxo — LIl + M(llxolI**? + pllxol|*)
and

IF" ()l = M2+ p)1+ p)llx@OI7 + 2w,
it follows that

llxo — 1 + M (lxoll**7 + pllxol1?)

I F' (x0) ™" F(x0) || <
1— M(Q2+ p)llxoll P + 2ullxoll)

and
M2+ p)(1 + p)llx|? + 2w
1 — M2+ p)llxoll'*7 + 2ullxoll)

Therefore, ff and 5 are estimated.

I F'(xo) " F" ()| <

(4.3)
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On the other hand, for x, y € Q,,

b
[(F"(x) = F"(y)uzl(s) = —/ GG, )2+ p) L+ p)x®F = yOPu®z@®)dt, s € [a, b]

and consequently,
IF"(x) = F"DMI<KMQ2+ p) A+ pllx = yI”,  x, y € 2p.

This means that K = M (2 4+ p)(1 + p). Thus, we can establish the following result from Theorem 3.1.

Theorem 4.1. Let F be the nonlinear operator defined in (4.3) and xo € Q, be a point such that
M2+ p)llxoll 47 4 2u|lxo0l) < 1. Suppose that B(xo, r) C Qp, where r is a unique positive solution of
the equation KePH 4+ pt —1=0. Let r, be a unique solution of the Eq. q(s) =10n (0, rs,). If n <ry, then
the sequence {x,} generated by (1.8) and (1.9) with initial point xy converges at a rate of order 2 + p to
a unique solution x* of Eq. (4.1) on B(xg, r).

Example 4.1. Let [y be defined by
lo(s) =s, s€l0,1]

and G Green’s function on [0, 1] x [0, 1] defined by (4.2). Consider the following particular case of (4.1):

1
x(s) =1lp(s) —i—/ G (s, t)[2x(t)2]dt, s € [a, b]. 4.4)
0

Choose xg = [y for Theorem 4.1. Clearly, K =0 and p =0. Since M =1/8, we have f=1andsor = 1.
Hence B(xg, 1) € Q. Note that

F o)~ F gy < —2MIol”__ 1
1 —4M]||xo]l 2

Then n = || F’ (xo)_l F(xp)| < % Furthermore, we have r, = % Thus, assumptions of Theorem 4.1 are
satisfied. Consequently, the sequence {x,} generated by (1.8) and (1.9) with initial point xo converges
quadratically to a unique solution x* of Eq. (4.4) on B(xg, 1).
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